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AP & A1l AD,AB o B43 24 EF,HG & 124
OAEPH , oEBGP , oPGCF , gHPFD & 5% HajAlH o|t},
AABP+APCD = AAPD+APBC o] B2 A3 HH o] Wol=

OABCD ©] % olct.
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" AABP + ACDP = 84 x 5 = 42(cm?)
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Lx =90° —48° =42°, Ly = 2/x = 84°

LoLx+ Ly = 126°
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£x + 28° 4+ 60° = 180°, zx = 92°
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oABCD |4 AB//DC, AD//BC, 0= AC, BD2| ¥4
AABO 2} ACDO ol A

BRG] tH o] dol=ZoBng
O®AB=CD---O®

AB//DColE&

@/ABO = /CDO (344 ---©

®/BAO = /DCO (Z4TA) ---©
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AABO = ACDO (@ SAS &%)
~OA=0C,®O0B=0D
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® AB=CD

@ /ABO = /CDO (AZ43A)
® /BAO = /DCO (1A
@) (sas #5)

® OB =0D

@ SAS &5 - ASATF
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@O AAEH = ACGF

@ ADGH = ABEF

® EF = HG @)EH = AH
® (EFG = /EHG
AAEH = ACGF (SAS ¢%) o|22 EH = FG
ADGH = aBEF (SAS &%) o|22 EF = HG
w2hA] oEFGH &= 7 89| ti¥ o] do|7t 22 22 YA
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the 19 9] A2 ABCD ©ll4 AD//BC ©]aL, aABC 9] Wol7t
20cm? ©]11, ABEC 9] ¥ o|7} 10cm? € ©f, ADEC 9] ¥ o]& 5}¢]
a},

A D

10 cm?
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AABC 9] Y0]¢} ADBC ¢] Hol= U5}t
ADBC = 20cm?

.. ADEC = ADBC - ABEC = 20 - 10 = 10(cm?)
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20cm? ¥ o], AD 99| ¢1eje] A P of thst
o] APBC 9] Ho|& F-stofet.

BPAAF ABCD 9] HWol7l 20cm2 0| B2 APBCE Hol=
HPAPHYF ABCD Holo] Aukel 10 cm? ot




AtchE] & ABCD 94 OD : OB = 2

10. o2 293 Zo] AD//BC 3
2 ol off, pABCD 9] §o|& totoiet. (¢, ©

oltt, ABOC = 90cm
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ACOD : ABOC =2:3 0|B&2
ACOD:90=2:3 .. ACOD = 60cm?

ojmf AABD = AACD ©°|E 2

AABO = ACOD = 60cm?

T AAOD: AAOB=2:390|B=2
AAOD:60=2:3 .. AAOB = 40cm?

- 0ABCD = 40 + 60 + 60 + 90 = 250(cm?)




